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4] 10{PUH5> (AmEH) 1, 050, 000 0] 1,050, 000
1) 4] 22|FEFEEHE 3 A4 72| 1,049, 928 72
ol 4| 29o|srusmmms 385 =20 3, 840| 1,046, 088 3, 840
3| bl 22|FEREHEHEL 4 Ho 27] 1,046, 061 27
4l 5l 22|erEsrwns (ans = 2 2,460] 1,043, 601 2, 460
6] 1|EAE A210, 000 0] 833,601
5| 6| S|HNKiE=ZEE 7,272] 826,329 7,272
6] 6 19|FEREFHEHEL 5 H 4 224] 826, 105 224
7 o| 19|Erasesns (5185 €/ 7m) 580 825, 525 580
8] 7| S[VHFEMLR 1,332 824, 193 1,332
71 10|PUaHg 5y (2[E1H) 420, 000 0] 1,244,193
9] 7| 20|FEFEFEHE 6 A4 120 1,244, 073 120
10| 7| 20|srumnenn onn =/ sa 050 7,500] 1,236,573 7,500
1 8| 3|7V HZA T4k 8,340| 1,228,233 8, 340
12| 8| 24|wrwmnenn can =/ van5o 16,460| 1,211,773 16, 460
13| 9| 18|EFEMFEHE 8 A4y 79| 1,211, 694 79
14] 9| 18|wrmmuns san = va- 25 690| 1,211,004 690
MU=y BlEIH) 420, 000 0] 1,631,004
15| 10| 20| = ©°— R RS 10, 120] 1, 620, 884 10, 120
16| 10| 21|EFEFEHE 9 A4 90| 1,620, 794 90
17] 10| 21|@vsesmrnn ©as e 20, 020] 1,600, 774 20, 020
181 11| 18[|ErET#aImE (10735 /70-h7-) 9’ 720 1, 591, 054 9, 720
11] 30|HNKAGESZAE BHRE G A 90| 1,591,144 -90
19| 12| 17|EFEFEHE 11H 5 117| 1,591, 027 117
201 121 17|ErasmmEmne aasy wmp-) 9, 620| 1,581, 407 9, 620
1| 12[P9 =815 (4R H) 420, 000 0] 2,001,407
21| 1| 18|WHES =& (Web) 100, 880] 1,900, 527 100, 880
22| 1| 21|HEAEFEHEL 12H 5 36| 1,900,491 36
231 1| 21|ErusmmEmne a2as wmep-) 1,720 1,898, 771 1,720
24| 2| 22| HEL 1H 4 9] 1,898,762 9
25| 2| 2olmrmmmsE win wre 47,690| 1,851, 072 47, 690
26| 3| 12| T s ) v 624| 1,850, 448 624
27| 3| 19|HEEEFEHEL 2H 4 199| 1, 850, 249 199
28| 3| 19]mrmmmsE Cin wrea) 138, 540| 1,711,709 138,540
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